= BARRACUDA

ASSEMBLING INSTRUCTION

HEADLIGHT BRACKET

UNIVERSAL FITTING

N1013-38-39

WWW.BARRACUDAMOTO.COM

LEGEND

1. BRACKET
STAFFA
SOPORTE
HALTERUNG
SUPPORT

2. BRACKET RING
STAFFA ANELLO
SOPCORTE ANILC
HALTERUNGSRING
ANNEAU SUPPORT

3. ALLEN SCREW Mé&X25
VITE A BRUGOLA M6X25
TORNILLO ALLEN M&X25&
INBUSSCHRAUBE MéX25
VIS ALLEN M6&X25

4. WASHERS @6
RONDELLE @26
ARANDELAS 2¢
SCHEIBE 26
RONDELLE @8

5. SELF-LOCKING NUT @6
DADO AUTOBLOCCANTE 26
TUERCA AUTCBLOCANTE @€
SELBSTSICHERNDE MUTTER 26
ECRCU AUTCBLOQUANT @26

8. NEOPRENE STRIPES
STRISCE NECPRENE
RAYAS DE NEOPRENQ
NEOPRENSTREIFEN
RAYLRES NEOFPRENE

-1cm -1cm
QO O
- 105~115 B
QO (O

180

(STARTING POINT SIZE REFERENCE)

INTERNAL FITTING TYPE

a
) i
A b

+<1in +£:r
DD} {c@
125~135
) e
180

(STARTING POINT SIZE REFERENCE)

EXTERNAL FITTING TYPE

:
Iy




= BARRACUDA

ASSEMBLING INSTRUCTION

HEADLIGHT BRACKET

UNIVERSAL FITTING

N1013-40-41

WWW.BARRACUDAMOTO.COM

LEGEND

1. BRACKET
STAFFA
SOPORTE
HALTERUNG
SUPPORT

2. BRACKET RING
STAFFA ANELLO
SOPCORTE ANILC
HALTERUNGSRING
ANNEAU SUPPORT

3. ALLEN SCREW Mé&X25
VITE A BRUGOLA M6X25
TORNILLO ALLEN M&X25&
INBUSSCHRAUBE MéX25
VIS ALLEN M6&X25

4. WASHERS @6
RONDELLE @26
ARANDELAS 2¢
SCHEIBE 26
RONDELLE @8

5. SELF-LOCKING NUT @6
DADO AUTOBLOCCANTE 26
TUERCA AUTCBLOCANTE @€
SELBSTSICHERNDE MUTTER 26
ECRCU AUTCBLOQUANT @26

8. NEOPRENE STRIPES
STRISCE NECPRENE
RAYAS DE NEOPRENQ
NEOPRENSTREIFEN
RAYLRES NEOFPRENE

-1cm -1cm
QO O
- 105~115 B
QO (O

180

(STARTING POINT SIZE REFERENCE)

INTERNAL FITTING TYPE

a
) i
A b

+<1in +£:r
DD} {c@
125~135
) e
180

(STARTING POINT SIZE REFERENCE)

EXTERNAL FITTING TYPE

:
Iy




= BARRACUDA

ASSEMBLING INSTRUCTION

HEADLIGHT BRACKET

UNIVERSAL FITTING

N1013-42-43

WWW.BARRACUDAMOTO.COM

LEGEND

1. BRACKET
STAFFA
SOPORTE
HALTERUNG
SUPPORT

2. BRACKET RING
STAFFA ANELLO
SOPCORTE ANILC
HALTERUNGSRING
ANNEAU SUPPORT

3. ALLEN SCREW Mé&X25
VITE A BRUGOLA M6X25
TORNILLO ALLEN M&X25&
INBUSSCHRAUBE MéX25
VIS ALLEN M6&X25

4. WASHERS @6
RONDELLE @26
ARANDELAS 2¢
SCHEIBE 26
RONDELLE @8

5. SELF-LOCKING NUT @6
DADO AUTOBLOCCANTE 26
TUERCA AUTCBLOCANTE @€
SELBSTSICHERNDE MUTTER 26
ECRCU AUTCBLOQUANT @26

8. NEOPRENE STRIPES
STRISCE NECPRENE
RAYAS DE NEOPRENQ
NEOPRENSTREIFEN
RAYLRES NEOFPRENE

-1cm -1cm
QO O
- 105~115 B
QO (O

180

(STARTING POINT SIZE REFERENCE)

INTERNAL FITTING TYPE

a
) i
A b

+<1in +£:r
DD} {c@
125~135
) e
180

(STARTING POINT SIZE REFERENCE)

EXTERNAL FITTING TYPE

:
Iy




= BARRACUDA

ASSEMBLING INSTRUCTION

HEADLIGHT BRACKET

UNIVERSAL FITTING

N1013-50-51

WWW.BARRACUDAMOTO.COM

LEGEND

1. BRACKET
STAFFA
SOPORTE
HALTERUNG
SUPPORT

2. BRACKET RING
STAFFA ANELLO
SOPCORTE ANILC
HALTERUNGSRING
ANNEAU SUPPORT

3. ALLEN SCREW Mé&X25
VITE A BRUGOLA M6X25
TORNILLO ALLEN M&X25&
INBUSSCHRAUBE MéX25
VIS ALLEN M6&X25

4. WASHERS @6
RONDELLE @26
ARANDELAS 2¢
SCHEIBE 26
RONDELLE @8

5. SELF-LOCKING NUT @6
DADO AUTOBLOCCANTE 26
TUERCA AUTCBLOCANTE @€
SELBSTSICHERNDE MUTTER 26
ECRCU AUTCBLOQUANT @26

8. NEOPRENE STRIPES
STRISCE NECPRENE
RAYAS DE NEOPRENQ
NEOPRENSTREIFEN
RAYLRES NEOFPRENE

-1cm -1cm
QO O
- 105~115 B
QO (O

180

(STARTING POINT SIZE REFERENCE)

INTERNAL FITTING TYPE

a
) i
A b

+<1in +£:r
DD} {c@
125~135
) e
180

(STARTING POINT SIZE REFERENCE)

EXTERNAL FITTING TYPE

:
Iy




= BARRACUDA

ASSEMBLING INSTRUCTION

HEADLIGHT BRACKET

UNIVERSAL FITTING

N1013-52-53

WWW.BARRACUDAMOTO.COM

LEGEND

1. BRACKET
STAFFA
SOPORTE
HALTERUNG
SUPPORT

2. BRACKET RING
STAFFA ANELLO
SOPCORTE ANILC
HALTERUNGSRING
ANNEAU SUPPORT

3. ALLEN SCREW Mé&X25
VITE A BRUGOLA M6X25
TORNILLO ALLEN M&X25&
INBUSSCHRAUBE MéX25
VIS ALLEN M6&X25

4. WASHERS @6
RONDELLE @26
ARANDELAS 2¢
SCHEIBE 26
RONDELLE @8

5. SELF-LOCKING NUT @6
DADO AUTOBLOCCANTE 26
TUERCA AUTCBLOCANTE @€
SELBSTSICHERNDE MUTTER 26
ECRCU AUTCBLOQUANT @26

8. NEOPRENE STRIPES
STRISCE NECPRENE
RAYAS DE NEOPRENQ
NEOPRENSTREIFEN
RAYLRES NEOFPRENE

-1cm -1cm
QO O
- 105~115 B
QO (O

180

(STARTING POINT SIZE REFERENCE)

INTERNAL FITTING TYPE

a
) i
A b

+<1in +£:r
DD} {c@
125~135
) e
180

(STARTING POINT SIZE REFERENCE)

EXTERNAL FITTING TYPE

:
Iy




= BARRACUDA

ASSEMBLING INSTRUCTION

HEADLIGHT BRACKET

UNIVERSAL FITTING

N1013-54-55

WWW.BARRACUDAMOTO.COM

LEGEND

1. BRACKET
STAFFA
SOPORTE
HALTERUNG
SUPPORT

2. BRACKET RING
STAFFA ANELLO
SOPCORTE ANILC
HALTERUNGSRING
ANNEAU SUPPORT

3. ALLEN SCREW Mé&X25
VITE A BRUGOLA M6X25
TORNILLO ALLEN M&X25&
INBUSSCHRAUBE MéX25
VIS ALLEN M6&X25

4. WASHERS @6
RONDELLE @26
ARANDELAS 2¢
SCHEIBE 26
RONDELLE @8

5. SELF-LOCKING NUT @6
DADO AUTOBLOCCANTE 26
TUERCA AUTCBLOCANTE @€
SELBSTSICHERNDE MUTTER 26
ECRCU AUTCBLOQUANT @26

8. NEOPRENE STRIPES
STRISCE NECPRENE
RAYAS DE NEOPRENQ
NEOPRENSTREIFEN
RAYLRES NEOFPRENE

-1cm -1cm
QO O
- 105~115 B
QO (O

180

(STARTING POINT SIZE REFERENCE)

INTERNAL FITTING TYPE

a
) i
A b

+<1in +£:r
DD} {c@
125~135
) e
180

(STARTING POINT SIZE REFERENCE)

EXTERNAL FITTING TYPE

:
Iy




